
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 106 81 56 -19 -44 -69 -94Différence commune:2. 72 62 52Différence commune:3. 83 78 43Différence commune:4. 117 92 67 42 -8Différence commune:5. 201 126 51 -24 -324Différence commune:6. 80 5 -70 -220Différence commune:7. 624 474 399 249Différence commune:8. 26 -74 -174 -274 -374 -674 -774Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 106 81 56 31 6 -19 -44 -69 -94 -119Différence commune: -252. 92 82 72 62 52 42 32 22 12 2Différence commune: -103. 88 83 78 73 68 63 58 53 48 43Différence commune: -54. 117 92 67 42 17 -8 -33 -58 -83 -108Différence commune: -255. 201 126 51 -24 -99 -174 -249 -324 -399 -474Différence commune: -756. 380 305 230 155 80 5 -70 -145 -220 -295Différence commune: -757. 624 549 474 399 324 249 174 99 24 -51Différence commune: -758. 126 26 -74 -174 -274 -374 -474 -574 -674 -774Différence commune: -100Mathslibres.com


